
 

 

JÄSPI-VLK 
 

   
  

:  

 Tuotekatu 11, PL 21, 21201 RAISIO  

www.kaukora.fi . +358 2 437 4600,  +358 2 437 4650  

 E-mail: kaukora@kaukora.fi  

 



  

       3 
     4  

        4  
       4  

       5  
       5  

      6  
      7  

       7  
      7  

         8 
          8 
     9 

       9 
   10 

   10 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



  

  
 

 

 

 

 

 

 

 

 

 

 

 
: 

 
1 -  (1~)  
   (3~) 
2    
3   
4   , 
      
5,6    (Ø15 ) 
7   
8,9   (M8x40) 
10   
11     
     (  Ø15  ) 
 
 

  
 

 
 

. 
 

 

    
     A             B              H              K                L      

  
  

 
 

VLK  15 15 2 (1~) 10 320 320 490 120 255 10 IPX4 230 

VLK  30 30 2 (1~) 10 320 320 750 120 515 20 IPX4 230 

VLK  60 60 2 (1~) 10 470 470 655 228 199 30 IPX4 230 

VLK 100 100 2 (1~) 10 470 470 975 228 519 48 IPX4 230 

VLK  60-3 60 3 (3~) 10 470 470 655 228 199 30 IPX4 230/400 

VLK 100-3 100 3 (3~) 10 470 470 975 228 519 48 IPX4 230/400 

VLK 160-3 160 3 (3~) 10 470 470 1475 188 1059 62 IPX4 230/400 
 
 

. 1        
  

 
  : 

 
 -  

 1 . 
  1 . 

 (5x60) 4 . 
   (VLK-15)  1 . 

    (  ) 1 . 
  (M8x40) 4 . 

 

 : 
 

  2   
 3  

   2  
 3  

  2  
   Ø15  

     Ø15  

 
 
 
 
 
 
 
 
 



  

JÄSPI-       .    .  -
        ,    . 

    ,        -
.  

   

!     . -         ,   
     ( )     .   

          .  
     9-10 .         

.                . -  
       .  

 
     

    ,   ,    ,       -
     .  

   ,   .     
              .  

              
    .   ,        

   .      .  

                 -
   .      .  

        (  6 )      -
 .  

          .  
         ,     
 .        (    ), -

     .  

 

  
 

       ,   . 
 
-        . 
-       ,      . 
-              . 
-       (8)  .     .  4 . 
-            (9). 
 
 
7.    
8.     (M8x40) 2 . 
9.     (M8x40) 2 . 
11.   (Ø15 ) 
 

  M 
VLK-15  -30 245 
VLK-60  -100 355 
VLK-160 475 

 
 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

. 2      
 
 

  
 

       .   .,     
 . 

 
 
 

 

 

 

 

 

 

 

 

8,9.   (M8x40) 4 . 
11.   (Ø15 ) 
 

. 3      
 
 

  
 

      .           
.  

 
      Ø15      .      -
,    (5).  

 
              -

 (12).  
 
 



 
 
 
KV =        
LV =        
 
5.      ( ) 
6.     ( ) 
12.    
13.   
 
 
 
 
 
 
 
 
 

 
. 4      

 
       .      

             .,   .   
   . 

 
 

 
KV =        (  Ø15) 
LV =        (  Ø15) 
YV =       (  Ø15) 
 
5.       ( ) 
6.      ( ) 
12.   (  ) 
13.   (  ) 
14. -/   
15. -/   
16.   
17.     

 
 
 

 

. 5        
 
  
 

  

    -     .  VLK, 
 2       .     . 

   VLK,  3   - 3- .   -
   .   230/400 .       

 .      .     1-   3-
. 

Vastus -  

Säätötermostaatti -   

Lämpötilanrajoitin -   

Liitosjohto pistotulpalla -     

Syöttö -   

 
 



 

 

 

 

 

 

 

 

 

 

 
. 6      (1~) . 7      (3~)      

 

   

     ,         ,    
.        . 

! 

  .,   ,   ,    ,  -
          .,   .          

     . 

 
 

 

1. ,     . 
2. ,  -/   (14) .       -

      (   ).      ,    
 . 

3.    (15). 
4.    -      (18).  ,     . 
5.    . 
 
 
 

 

        (YV).  

1.    . 
2.    (15). 
3.      (17)      . 
4.  -/   (14)        ,   

      . 
5.    (16)        . 

              . 
 
 
 
 
 
 
 



 
KV =        
LV =        
YV =       
 
14.     - /   
15.        
16.     
17.        
18.       

 

 

 

. 8    - /   
 

    

 
   

        (20).     -
    .       -

 +55 °C.            
. +60 °C.      +80...85 °C.  

 
   

     -          
   .       ,      

    .       -
 ( .       ).    ,    

.          . 

  
 
1.      (21),       

 (20). 
2.       ( )   ,    

.        (22  23)    . 
 

 
 
 
 
 
 
20.    
21.   
22.   (  ) 
23.    (  ) 
 

 

 

 
. 9       

 

      
 

    VLK-30, -60, -100  -160    ,    
       .    (17)   

 .   +55° .    :   -



  (18)            ,   -
      ( . 55° ). 

 
 

 
 
 
 
 
17.   (  28-65 ºC ) 
18.    
19.  

 
 
 
 
 
 
 
 
 
 
 
 
 

. 10        
 
 

 
 

        3-4 ,        
 .      (14)   ,     

    (YV)  .    ,      . 
        . 

     /          . 

      

·       ,             -
.  

·   .     ,      .    
    ., -   .    ,    . 

 .   –   ( . 8). 

·    ,      ,     -
        .  

·       . .  –   ( . 8). 

·      .       , -
  .  

·        .         -
,   .  

·      .         , -
  .  

 
      .     -

 .               
:          ,     

  .  

 
  



 
· !        ,      -

.           .   -    .  
            .     -

  ,          .  -
        .  

     + 4 °C.      ,   .  
         +4 °C   +80 °C - 0,0290:  

1 Kg            H2O ( )        + 4 °C      =      1   
1 Kg            H2O ( )        + 80 °C    =      1, 0290   

.   100-        + 4 °C       =      100  

.   100-        + 80 °C     =      102,9  
     2,9        . 

  
   ,      ,           

   .           , 
     ,            . 

  
  

 JÄSPI               10 . -
     – 1  (   ). Kaukora Oy     -

  (   )  ,          
. 

1.          .  
       .  

2.              15   -
 4 . 

3.     ,       ,     -
.    , : 

 )       60° . 
 )     
 )   ( )  . 
4.     ,   ,  ,  -

     ,  ,  ,    -
 ,   . 

5.      . 
6        .         -

. 
7.  -        . 
 
 

 

 

  

      ,         
  ( ).  

 
 
 

 2006  


